A=(0,0)

A=(01)

=(0,2)

[ >
»

A=(o5)

(9,0)

(50

)
(1)

(33)
(2,0

(5,8)

04)

(41)

&y

(32
35)

B 7(0/0

(527

(o3

(5%

DN

(44)

(o)

(5,3

(320
- (yé
- (¥)

36)

ls)

(56)
(40)
s)
(50
§péa (0,6)

ORBI_,TSl I WP, &TI}T—7

A=(/,0)

W

/
oS
lx 5251

el (3 o 7)

()

””amﬂa(zo7.:« o
7 (61_5,7_:_;; . .51-.9!. o
%

(1,0)
(4,2)

(g3

(4,5

uw

(427

. e ,

6
(2,1)
(%)

0,6

Gy
(5
(6/07 o

. 5/-
%29

5%z
$.5 5

s

%2

i 95,
& .

%952
(5,5,

]
?

9l sZ
%%

s et o)



ORBITS TN W o T p=b

o A) (ds) W

Azl0)  (90) . |
Gy 5
(33) S,
(0,2) - 5%
; (410 o (5,92)27
h2) (552"
a=(o) (o) 1
.“(311) L % S
20 " %25
) 5529,
Y o (%, ?4 ,
} _(214') — SL( 52 S})zr _
a=(03) - (o3) . 1
e °1
@y 65)°
4,3 5(55)°
Go (5.5,
o)  alms)
A=0,0) (403 ]
(2,2) 9(
Gy S
) sny L
(4"/ 0) - 7 stl)z

alewy ey



